x+y=175

The equation above relates the number of

minutes, x, Maria spends running each day and the
number of minutes, y, she spends biking each day.
In the equation, what does the number 75 represent?
A) The number of minutes spent running each day
B) The number of minutes spent biking each day

The total number of minutes spent running and
iking each day
D) The number of minutes spent biking for each
minute spent running

X = y 3 _-—’_5>
—+2y 6 ’f%j:b

Which ordered pair (x, y) Satlouca—tuc SySterT
equations shown above? } -

A) (=3,0) —+— (o

C) (6,-3)
D) (36,-6)

Which of the following is equivalent to 3(x+5) =6 ?

A) 3x-3 5)(.#[5-*/%

B) 3x-1

(D= DRt

5x -6

-
Which of the—ful-lqwmg complex numbpers is equal to /

(5+12i) = (91 - 6i), f( ﬁb \/
A) -14-18i /(/ = . )
o 5 QA AL Fop

D) 44++6;81 5' TI L/L + C{ '('(ﬂ N

At



x*-6x+3 A company that makes wildlife videos purchases
If f(x) = —————,whatis f(-1) ? 5 _ camera equipment for $32,400. The equipment

\ _ () + 5 depreciates in value at a constant rate for 12 years,
0 _/QC/ (7 after which it is considered to have no monetary

B) -2 value. How much is the camera equipment worth

C) 4 years after it is purchased é-_’bm
2 C

D) 5 —
_Z B) $16,200

. (©s21,600 %W{){) ZX -
i D) $29,700 77}“(00 -—( )(

- o o W -
A SR
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On a

2+ 6x+4 Ken is working this summer as part of a_cres
. o _ farm. He earne er hour for the ﬁr ours he
Which _Of the following is equiyalent to the worked this week”Because of his performafce, his
expression above? X ,l— (px —\'q ’5— crew leader raised his salary to $10 per hour for the

rest of the week. Ken saves 90% of his earnings from
each week. What is the least number of IN

<§ X (kT e (ox)r 2 077
)

k2 A) 38
D) (x-3)*-5 B) 33 + 7 }%
@ X )( 7 \Q%

D) 16 ?< 7,1//1/



1. Look around your school or house. What are some structures you see that use triangles?

PootzF Yowy hwnse

3. What does it mean for a triangle to be rigid?

A Fanre S rqd Kt
onnct b€ dustorced.

UWNAL1 Stress.

2. Why is the triangle the shape of choice for structures such as bridges and the Eiffel

Tower? ’D l @ ]

4. Is the figure below a rigid figure? If not, what can you do to make it rigid?

TS quad.. S
%ﬂ(ﬁ‘ e
T no ‘JCOOU(W
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d d\\%}e—ﬂ)‘ﬂo\ Go’lW\ 0

\Cj\




&

- Do you remember what makes each of the following triangles special? 6. REVIEW Suppose points A, B, and C are collinear, where B is between A and C. If
a. Isosceles triangle AB =2x + 3, BC = 6x - 5, and AC = 22, solve for x.
2 = Si0b— & DXt '27 K =5~

b. Equilateral triangle& ( ( Jl m : 9/ l
c Scalenetrianglen OY’] é/ Oé d‘ (w :f_.- -I-%C A
pne_angle Hut =au W*%{fw = %7/
e | ngles Meske <D 4= =3

f. Obtuse triangle IQ‘ a’ n \(j le_ S Ve qD

d. Right triangle

3 3 2. It is possible to create a triangle with side lengths 6 units, 6 units, and 2 units. Decide
;r%pe{ t';ets .(::f ghtnta\ ;‘ gée loring “A tri 1 2" whether the other combinations of side lengths in the table create triangles or not. Mark
udent Activity Sheet 2; Exploring riangle, or not? Page 1 of 2 your answers in the table.

Side lengths Forms a triangle?

1. Write a good definition ofatnan%?mr 4(, ( m O\,Vj \W __tn.g:.:) ves | )
clos? / iy, 1098 —u




3. Explain why some of the side length combinations in the table above do not form

triangles. SUITL OFf ’h/VD SldQ.S
ZG ;\L AL \S Cess thow)
Q«wa\ qlva erwﬁwo

\T-H.Q\[ 5109 SYLGV\

. REINFORCE The lengths of two sides of a triangle are 7 cm and 10 cm. W] are th
upper and lower bounds on the third side of the triangle?

) ‘/‘77!0 §1M

5 75 3454\7

/7-1LIO7‘5

A

4. Write a conjecture about the relationship among the lengths of the sides of a triangle.
This conjecture can be proven, so we will call this the Triangle Inequality Theorem. You
will prove this conjecture in a later topic.

Tnesum of 'rhw, nsg MW\%
w0 S\Aes of %UA
iy

—mam e Mn + 0
o\dhe q+1
Z % A +D7C/ MUst
o> B+C7A }?g\h&
Tt >2 A +0,70 a4

. REINFORCE MO is twice as long as MN. NO = 36 cm. Find MO and MN. Can you solve this

problem? If so, gvet?to Inotepanw%(),/\/
S tw N 3D



7. REINFORCE MO is twice as long as MN. NO = 36 cm. What lengths must NM be between Hwk #24 - C|aSSifying Triangles Worksheet
in order for AMNO to be formed?

( )7 ND
X N>’<\(\-|-—+’L’\)!\( 7 ?}0

X774 7\



